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[1] #PCB 170 0.6 %1.8
[1-1]€/ 27807 = =/LH 9.0 0.02 0.05
[12] Y7 uvrb 7=/ 50 0.1 0.3
[1-3] NV 7o 7=V 46 0.1 0.3
[1-4]7 hT/mabe 7=/ 28 0.1 0.4
[1-4-11 275 F—PCBD % 5 3344-F F 77 nut 7 ==L #7) 0.24 0.01 0.04
[1-42] 2775 —PCBDH H 344 5-7 hT 77 ==/l (481) tr(0.011) 0.008 0.021
[1-5] X% mab 7=/ 15 0.09 0.23
[1-5-11 27T F7—PCBD 9 5 23344~ F 77 x=/L (#105) 0.64 0.01 0.03
[1-52] 275 F—PCBD 5 5 234452 7nnb 7 ==/l (#114) 0.06 0.01 0.03
[1-5-31 27T F—PCBD 9 5 23445477 x=/L (#118) 1.6 0.009 0.024
[1-5-4] =277 —PCBD 5 H 2'3445-X 2 7ma 7=/ (#123) 0.03 0.01 0.03
[1-5-51 27T F—PCBD 9 5 334454 7an b7 =/l (#126) tr(0.017) 0.009 0.023
[1-6] ~F ¥ 7 oot~ ==L 11 0.07 0.19
[1-6-11 27 FF—PCBD 9 5 233 44,5-~F o7 ==/ (#156) 0.19 0.01 0.03
[1-62] =275+ —PCBD 9 % 2,33 44 5-~FH /o7 =)L #157) 0.087 0.008 0.020
[1-6-31 2775 —PCBD 9 5 23 4455-~F 7o~ z=/L (#167) 0.069 0.008 0.020
[1-6-4] 27°FF—PCBD H H 3,3 44,55-~FH 7ot 7=/l (#169) nd 0.009 0.024
[1-7]~F %7 nn b7 ==/ 7.6 0.05 0.14
[1-7-11 275 F—PCBD 5 5 2233 445-~7 X raat 7=, (#170) 0.89 0.007 0.018
[1-721 27T F—PCBD 9 5 2234455 ~7 X 7ot ==/ (#180) 2.0 0.009 0.023
[1-7-3]1 =275+ —PCBD 9 % 23,344 55-~7 % 7oa b7 =)L (#189) 0.017 0.004 0.011
[1-8] 427 %7 unt 7 ==V 1.5 0.03 0.08
[19] VF 7ot 7 =)L tr(0.08) 0.04 0.09
[1-10) FHZarE 7 ==L nd 0.02 0.04
[2JHCB (~F¥H 7o) 120 0.1 0.3
[71 7 e T V¥ 360 %0.21 %0.54
[7-1] cis-7 @)V T 120 0.03 0.09
[7-2] trans -7 v VT > 140 0.06 0.16
[73]AF v anT 2.2 0.04 0.10
[7-4] cis-/ T 7 a)v 11 0.04 0.09
[7-5] trans-/ F 2 @ )v 83 0.04 0.10
[8] ~7 % 7 a V¥ 19 %0.13 %0.34
[8-1] ~T % a )L 17 0.04 0.10
[82]cis-~T 4 7 )L TREY R 1.9 0.04 0.11
[8-3] trans -~T7 % 7 @ )L TR ¥ K nd 0.05 0.13
[15] VT nFuats 2 2Nk (PFOS) 7.1 0.1 0.3
[16] 7 vAut s % g (PFOA) 20 0.3 0.8
(RN RS /== g 77 0.07 0.17
RI]~FHronrH-13,-vx 2,500 [ 2,800 | 2,100 10 30
[23] EGUEFRI T 7 0 U 3,500 %200 %500
[23-1] iR b7 M 550 50 120
[23-2] i Fb T v T T % 1,900 50 120
[23-3] HiFR(b R 8 640 50 140
[23-4] SFE NV T K 360 40 100
[24] ¥ =RV tr(0.3) 0.2 0.5
[25] =7 LA ~F P ALk (PFHXS) 43 0.1 0.3
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